




















































Exhibit C 
Wastewater Treatment Plant Impact Fee Calculation Methodology 

 

Wastewater Treatment Plant (WWTP) Impact Fee will be calculated by dividing the total amount of WW 
Treatment Facility Type Project Recoverable Costs by the Total amount of Wastewater Capital 
Improvement Projects.   

 

WW Treatment Project Recoverable Costs 

          

Total Wastewater Capital Improvements Projects Recoverable Costs 

 

= WWTP Impact Fee Percentage 

 

Total WW Impact Fee  X  WWTP Impact Fee Percentage = WWTP Impact Fee 

 

Using the July 2022 Ordinance informa�on as example would produce the following: 

 

WW Treatment Project Recoverable Costs  $                            
12,190,697.00  

Total Wastewater Capital Improvements Projects Recoverable Costs  $                            
30,082,740.00  

= WWTP Impact Fee Percentage 40.52%   

Total WW Impact Fee  $                                      
5,089.00  

   X WWTP Impact Fee Percentage  40.52% 
   =WWTP Impact Fee  $                                      

2,062.26  
 

 






























